EE 10H, Spring 2018, Midterm Exam — May 8,2018
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Problem 1: Consider the circuit shown in Fig-
ure 1.

(a) Draw a graph for this circuit.

(b) 1dentify (draw) a spanning tree that does not
include the branches Rs and Vg.

(¢) For loop current method identify a minimum
set of loop currents and mark your chosen set
of chord currents on the circuit diagram.

(d) Mark the currents in every branch in terms of
your chosen unknowns. L

(e) f:”o the loop (KVL) cquation for aloop that R, o4
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problem 2: Refer to Figure 2 for this problem. Calculate the Tl in’ i i
lem . 5 % hevenin’s equivalent of t
Jooking into the terminals 1-1°, Use any method of your choice. ! nofthis network

Figure 2.
(20 + 20 = 40 points)
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Problem 3: Refer to Figure 3 for this problem. Find Io(t) for all t= 0. Assu

Figure 3
(35 points)
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